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QUESTION 1

Refer to the exhibit.

Overview

Object repair timer: 60 minutes ©

This section is automatically refreshed every 10 seconds. [ RESYNC THROTTLING
> Total resyncing objects 0
> Bytes left to resync 0.00 B
> Total resyncing ETA 0 seconds
> Scheduled resyncing 767 objects

An administrator is managing a 4-node, hybrid vSAN cluster. One of the hosts in the cluster went offline.

Referencing the information displayed in the resyncing objects section of the vSAN Ul, what is the current state of this
cluster?

A. Offline host reconnected to the cluster and all objects are synchronized.
B. Objects will be resynchronized when the Object Repair Timer expires.
C. Resync Throttling has caused data resynchronization scheduling.

D. Metadata resynchronization is scheduled to occur every 60 minutes.
Correct Answer: D

Reference: https://core.vmware.com/resource/vsan-2-node-guide#secl1-sub3

QUESTION 2

An administrator has been tasked with the shutdown process of one of the nodes in a 4-node vSAN Cluster, in order to
replace a motherboard. The administrator must select the correct maintenance mode option to ensure all objects remain
compliant with the vSAN Default Storage Policy. No changes have been made to this policy.

Which maintenance mode option should the administrator select?

A. Allow Reduced Redundancy

B. Ensure Accessibility

C. Full Data Migration

D. No Data Migration

Correct Answer: D

5V0-21.20 VCE Dumps | 5V0-21.20 Practice Test | 5V0-21.20 Exam Questions 2/4


https://www.passapply.com/5v0-21-20.html
https://www.passapply.com/5v0-21-20.html
https://www.passapply.com/5v0-21-20.html

VCE & PDF https://www.passapply.com/5v0-21-20.html

2024 Latest passapply 5V0-21.20 PDF and VCE dumps Download
P-

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

Reference: https://kb.vmware.com/s/article/60424

QUESTION 3

An administrator is patching a production Stretched Cluster using VMware Update Manager. Which statement is
accurate?

A. The witness hosts can be patched using normal patch processes with VMware Update Manager.
B. Witness hosts cannot be patched or upgraded using VMware Update Manager.

C. The witness host does not need to be upgraded as there is no data on the node, just metadata.
D. The witness host must be deleted and a new witness host must be deployed.

Correct Answer: A

QUESTION 4

Which storage policy can be assigned to virtual machines in a 5-node, all flash vSAN cluster, to provide the highest level
of redundancy?

A. 1 failure

Correct Answer: B

QUESTION 5

A storage administrator is consolidating 2 data centers running on an HCI platform. There is a single site deployment of
VMs running on the HCI platform with vSAN encryption. The administrator would like to protect data using replication
and has these tools available:

vSphere replication VM encryption VMware vSAN

Considering the scenario, which statement is correct?

A. Encrypted VM disks are not supported with VMware vSAN, only encrypted vSAN datastore.

B. If a source VM has encrypted disks, the VM storage policy must be encrypted.

C. If source VMs have encrypted disks, the target storage policy cannot include a VM encryption rule.

D. If VMs have encrypted disks, the VM storage policy has a choice of encrypted or not encrypted.

Correct Answer: A
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